PHYSICS Paper:1 (U1 aiJFte (154 124 -11) I:g¢
Time: 16 Minutes Group-I OBJECTIVE . (ﬁ/’ \ .,,4/ 1174 Lo
Marks: 12 Code: 5473 é c//'r/r'M

: /b,gfi /,'U:\g

7
15 1=

12 :‘fgt

L e fumdisevllrg 362 . g LisDCiB AL KL Iy 1ad
Kt s N7 i B e LSS KNS S i ol e S B S i L SN S 05 S b

1.1- Thermal conductivity of water is :
0.50Wm~'k" (D) - 0.39Wm~ K™ (C)
|
2 - Abody of mass 50Kg is raised to a height of 3m,
its potential energy will be
1500 J (D) 1400 J (C)
3 - The value of 'g' on moon is
1.92ms™2 (D) 1.82ms™2 (C)
4 - Water freezes at
-273K (D) 32F° (C)
5- The mass of 200cm? of stone is 5¢0g. lts
density will be
2.29(:m'3 (D) 2.3gcm -8 (C)
6 - In solids, heat is transferred by
absorption pﬂ/l'/.l (D) /convection ﬂ/ (C)
7 - Aball is thrown vertically uppvard. Its velocity at the
the highest point will be
9.8ms™" ( 9.9ms™" (C)
8 - The turning effect of a fgrce is called
moment arm r;fw (D) net force ‘J/}.»j ©)
9 - The work done will e zero, when the angle between
the force and the djstance is
180° (D) 90° (C)
10 - The number of pase units in Sl are
7(D) 6 (C)
11 - The co-efficfent of friction between tyre and wet road is
0.4 (D) 0.3 (C)
12 - Inertia dépends upon
velocity (¥Us (D) mass U (C)
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\
AU 1 e JFSsE (1°°A 124)

SUBJECTIVE Sen

Tige
ol & 146

48:&(.

(2) e ch. ufr».‘o -q_diﬂdi".-‘o 2L
..Z-J.:;leé:@l}b’

(o) /2N

Section - I d:‘ -

9 - Write short answers to any FIVE (b) questions.
i- What is meant by Vernier Con;tant?

ii - Define Plasma Physics.

i -

time?

iv- Write down two advantages of Friction.

v - Define Centrifugal Force:

vi- When a gun is fired, it recoils. Why?
What is Global Positioning System?
viii- State law of Gravitation.

3 - Write short answers to any FIVE (5) questions.
i- Differentiate between vectors and scalars.
ii- Represent 80N force acting in North-East direction.
iii- Define acceleration and write down its S.I unit.

iv- Define density and write its unit.

v- The mass of 5 litre of water is 5 Kg./Find its density.

(1litre=10"2m")
vi- Differentiate between stress and strain.
vii -
viii- Write down two uses of good conductors.
4 - Write short answers to any FIVE (5) questions.

i- Define stable and neutral equilibrium.

Why do we need to measure extremely small intervals of

Why conduction of heat does not take place in gases?
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{i- How does Head to Tail Rule help to find the resultant of vectors? fe_ IR Y- g_,/r)y' e K3 a2 Jij)ﬁ -ii

Define centre of mass and centre of gravity.
iv- Differentiate between work and energy.
v- Define efficiency of a system and write formula of
percentage efficiency.
vi- Define potential energy and write its equation.
Vil -
Celsiues Scale.

viii- Define linear thermal expansion and volume

thermal expansion.
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Convert 100°F temperature on Fahrenheit Scale into
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Section - 11 r.u.«'b g o ¥

4 - (a)Whatis meant by law of Inertia? Also give two @) - o’{u’-JL‘;" a Ji e gl Ve BAJT (WD -5
examples. ;

(b) A polar satellite is launched at 850 Km above earth.  (5) J)f{ Sak § 850Km < S srpely A (D)
Find its orbital speed? o ST Ve
g - (a) Derive First Equation of Motion by using speed-time  (4) =bl- K7 e ),e"J oS (’L‘ i (D .g
R
on sphere of mass 5kg. (B) & o ool LS L ed Ll Ul (UCK5 {uad
e 8200Kgm 5 J et £

graph.
(b) Calculate the volume of anir
The density of iron is 8200 Kgm’3.
7+ (a) Define Resolution of forces. How can a force F be 4) Vi S FUs L,((.’éf ..31/7 Jyz;’ ST epdgs (D) -
resolved into its perpendicular components? fie. L L!Jf.y DT JM:,.I St &

(b) A motor boat moves at a‘steady speed of 4ms™. (5) 3 eI7 e 22 S ams™ wn i L ()

Water resistance acting on it is 4000N. Calculate  -¢- 4000N o By eSS e
-z‘:r}l”/:& JJ'L !

power of its engine.
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1.1- The range of clinical thermometer is
35°C —42°C (D)
2. The energy stored in coal is
kinetic energy ./ &dy (8)
8.1 7% (D)
3. Aballis thrown vertically upward. Its velocity at
the highest point will be

30°C — 42°C (C)

nuclear energy

<2

10ms™" 10ms™2 (C)

(D)

4. The value of 'B' for a solid for which 'a.’

& dr & S 2rf Jsinls

20°C —42°C (A)

o GHosnis

heat energy = ./ (A)
chemical energy ./ &2 (C

25°C — 42°C (

Lre /A-L(W;J)’J/}U///J
Juf
zero 4 (B) -10ms™" (A)

¢ 210K e fup Wi gL e A

has a value of 2x10™°K ™" will be Jn ed § et st S (el L
8x107°k™" (D) 8x107"°k™1 (C) 6x107°K~1.(B) 2x107°k™" (A)
5 . Using gas heaters, rooms are heated by U &b 4 rfc. &l 4,/@ Jon L J‘f
convection and radiation gﬁld},/ 29 uﬁr/ | conduction f (A
convection uﬁgf (D) radiaﬁon I8t (C)
6. ofthe following is the smallest quantity. . \/ P ) Sy 23/
5000ng (D) 100 Mg v'! 2mg (B) 0.01g (A)
7 . Two equal but unlike parallel forces having different w’*fuﬂ_-;’u ' 74,3 JJlf L u? Sslr s
line of action produce v [}/ lag o il
torque Ny (B) a couple ‘ Jf (A)
neutral equilibrium  (£28£1 J2% (D) equiliorium  £ASE1 (C
8- Aboy jumps outof a moving bus. There is adanger BP0 117 =Y SV due 3% K/J
for him to fall | PRV WS NPy
away from the bus < U+ (B) towards the moving bus 3./ U b qu

9. The efficiency of solar celi is
12% (D)
Rate of change of momentum is called
us? (D) mass Ul (C)
The density of substance can be found with the help of
Hooke's Law & ¢9§ L < (B)
priciple of floatation « Jr L &7 (D)

9% (C)
10 -

force
11-

The altitude of geostationary orbits in which communication
satellites are launched above the surface of the Earth is

6400Km (D) 1000Km (C)

12 -
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in the direction of motion
opposite to the direction of motion (& =¥ § =77 (D)

e § =7 (C)

< x5 S U

3% (B) 6% (A)
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distance e (B) torque ot (A)
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Pascal's Law < yit L J{‘L (A

Archimedes Principle < Jr* £ Uxl (C)
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Note: Section I is compulsory. Attempt any TWOQ (2)

questions from Section IL

2 - Write short answers to any FIVE (5) questions.
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Section - I J3l <o

(6x2=10) -2 felizPLotr (5) &L -2

i- What is meant by the least count of an instrument? e sy Ve bad L ail -
ii- Define Atomic Physics and Plasma Physics. B PSS G S i
iii- Write down two rules to identify significant figures. & oty £ s § uria A -iii
iv- Describe two situations where force of friction is needed. e At enp S PP Sl -iv
v- If weight of a body is 147N, then find its mass. W ULE U e 14TN UKl v
vi- Write down two differences between mass and weight. 2 Jive J/ uns gl -vi
vii - With what force does an apple weighing 1N attracts thé Earth? ‘e U‘{ & u’u’ u‘/ e U, -« TN € .../.,(' -vii
viii - Why is the law of gravitation important to us? e A u/" ol I K,f‘“(j#f - viii

3 - Write short answers to any FIVE (5) questions.

i- Why we can not add or subtract vectors like scaler quantities?

ii- Write down the use of LIDAR gun.

iii- Define vibratory motion and give one example.
iv- Is 1Nm~2=1Pa? If yes define it.

How liquid is pushed up, when we use straw to drink?

v -

vi- On which principle, ships and boats are designed?
vii- Where are insulators used in daily life?
viii- Write down the names of expert thermal climber birds.

4 - Write short answers to any FIVE (B5) questions.

i- Find the Torque.

6x2=10) -2 febzFLlenr (5) by < -3
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e ST plive sl Sl -
et Qb S L Ut U s Agdf i
St Lst Jet U Rt Sai o v
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6x2=10) -Z fepiz Loty B) b -4
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200N

1 200N
=== 20cm - ---- b €--n-. 20em - ----)
ii- Define equilibrium. Give an example of a moving body d/f)ci’ (frz_x LSS ) J,"/dfl -ii
which is in equilibrium. ' i g (’/df'i & Je
iti- What is meant by elasticity? e e gfc. u’*& Wi oo-iii
iv- Define energy. Write down its SI unit. -&7&;} SI§yi- ?l:J/”.JJ/" -iv
v- A body of mass 10Kg is raised to a height of 5m from earth. F ik § 5m < LIS Fg L UL F10 v
Find its gravitational potential energy. _é r}” S J’*_’d J’e d!f J (; J-< U’Wl '
vi- Whatis the Sl unit of power? Define it. 4 RESTPAG DR TPEE

CARD)
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vii- Differentiate between témperature and heat. -é Uk O =il ol /5-/;*" - vii

viii - Convert 50°C temperature into Kelvin scale and Fahrenheit (% Z-/;/ L JF bl JEUKY /.,,u/,;‘ 50°C - viii
scale of temperature. : _z’; Jx

Section - 11 (2 -3

b = (a) State the law of Conservation of Momentumand ~ (4) < J& s 25y wis Kgﬂu'/& (by’, (I -5

prove it with an example. _’c_‘f A 4
(b) The value of g is 4ms2 at a distance of 10000Km (5) = § g ¢ Job £ 10000Km DLt ()
from the centre of the Earth. Find the mass of Earth. -sz r}" W 109 _+.4ms'2
6 - (a) With the help of speed-time graph, (4) SEE b JJI/‘;/L‘..Q; () -6
prove that 2a8 = V§ -V 228 =V§ - Vi
(b) A student presses his palm by his thumb with a (5) d;l/tﬁ s?d 75N < 24 & f"._)lb.{l ()
force of 75N. What would be the pressure under his Lisem? e LEAL o e bl S Jff
thumb having contact area 1.5cm?? ' Wt 2yl z v
7 - (a) Differentiate between the following (4) 5 IR L () =T
a) Torque and Couple ) J;rul ot (L
b) Centre of mass and Centre of Gravity So /ST N ST (o
(b) Normal temperature of human body is 98.6°F, (6) u’é"“/c_l @ by 98.6°F i,;/,,/ S Kf)' U (&)
convert it into Celcius scale and Kelvin scale. -2,‘5 sz" s «.}'C c})‘:f sl J"/'
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